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Why did the toad cross the road?

Complete the divisions below and match
the answers to the numbers in the code.

9 • 51        804 • 100 • 14 • 100 • 9        500 • 100 • 14

3 • 70 • 4 • 9 • 40 • 4 • 9 • 80

A 28 ÷ 7 = B 14 ÷ 7 = C 77 ÷ 7 =

D 84 ÷ 7 = E 560 ÷ 7 = F 21 ÷ 7 =

G 630 ÷ 7 = H 3500 ÷ 7 = I 700 ÷ 7 =

J 420 ÷ 7 = K 35 ÷ 7 = L 490 ÷ 7 =

M 280 ÷ 7 = N 287 ÷ 7 = O 357 ÷ 7 =

P 56 ÷ 7 = Q 637 ÷ 7 = R 427 ÷ 7 =

S 98 ÷ 7 = T 63 ÷ 7 = U 6314 ÷ 7 =

V 5628 ÷ 7 = W707 ÷ 7 = X 70 ÷ 7 =

Y 42 ÷ 7 = Z 49 ÷ 7 =


